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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level Travel 
& Tourism, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus 
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance 
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2024 exam series to exemplify a range of 
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or 
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes 
and guidance for candidates for each question.

Please refer to the June 2024 Examiner Report for further details and guidance.

The questions, insert and mark schemes are available on the School Support Hub

Introduction

Past exam resources and other teaching and learning resources are available on the School Support Hub

9395 June 2024 Question Paper 12

9395 June 2024 Mark Scheme 12

9395 June 2024 Insert 12

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support
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How the candidate could improve their answer
•	 (a) The candidate would have been awarded 1 mark if they had referred to the construction of the cruise terminal 

mentioned in the Insert.
•	 (d) This was an extended writing question. The candidate used the Insert to good effect which gained them marks. 

To achieve further marks, the candidate needed to demonstrate much more evaluation. The candidate might have 
benefited from using a format where they make a point, explain it and then evaluate their comments at the end. 
Three paragraphs using this format might have helped the candidate achieve full marks.

       The candidate identifies 
that Barcelona is a popular 
destination for cruise ships and is 
awarded 1 mark.

       The second part of the 
candidate’s response is awarded 
2 marks. The candidate refers to 
the Olympic games showcasing 
the attractions of Barcelona. 
They also mention architecture 
and art which will attract cultural 
tourists in addition to those who 
came because they had an 
interest in sports and the O

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for 
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner 
comments.

Example Candidate Response – high Examiner comments

1

1

Common mistakes and guidance for candidates
•	  Candidates needed to make use of the Insert. Many suggestions could be used to assist candidates with 

answering questions – especially useful for parts (a) and (b).
•	  Some candidates devoted too much time and effort into listing lots of ways that sustainability can be encouraged 

by local people. As there are only 3 marks available for each assessment objective (in the case of (d)) and 2 marks 
per assessment objective (in the case of (c)) it would be better if three or two identifications were made and then 
explained giving candidates time to think about evaluation which in many cases was not attempted at all.

2

2

Examiner comments explain 
where and why marks were 

awarded. These help to interpret 
the standard of Cambridge  

exams to help learners  
refine their exam technique.

Responses are written by real candidates in 
exam conditions, demonstrating the types of answers 

for each level. These could be used to discuss and 
analyse the answers with learners in the classroom to 

improve their skills.

This section explains how the candidate 
could improve each response. It helps learners to 

improve their exam technique.

This section lists common mistakes as well 
as helpful guidance from the examiner. This will 
help your learners to avoid these mistakes. You 
can use this alongside the relevant Examiner 

Report to guide your learners.
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Question 1

Example Candidate Response – high Examiner comments

       The candidate identifies that 
Barcelona is a popular destination 
for cruise ships and is awarded 1 
mark.

       The second part of the 
candidate’s response is awarded 
2 marks. The candidate refers to 
the Olympic games showcasing 
the attractions of Barcelona. They 
also mention architecture and art 
which will attract cultural tourists 
in addition to those who came 
because they had an interest in 
sports and the Olympic games.
Mark for (a) = 3 out of 4

       The candidate explains 
that GDP rose, and that tourism 
contributed to this. They 
demonstrate the impact of using 
the Insert to good effect and are 
awarded 2 marks.

       The candidate indicates tourism 
has increased employment by 
14% and that they have brought 
in more money which has allowed 
local businesses to increase 
their workforce. The candidate is 
awarded 2 marks.

       The candidate explains that the 
government receives more money 
from tourists, and this can help with 
infrastructure development. They 
are awarded 2 marks.
Mark for (b) = 6 out of 6

4

2

1

3

4

2

1

5

5

3
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Example Candidate Response – high, continued Examiner comments

       The candidate’s opening 
paragraph makes a point 
demonstrating knowledge and 
understanding (AO1). This point 
is then explained (AO3) and then 
an evaluative comment is made 
at the end (AO4). A good opening 
paragraph.

       The candidate’s response 
then presents a negative point of 
view on the topic. The candidate 
is attempting to discuss, a point 
demonstrating knowledge and 
understanding is made (AO1) and 
then explained, showing analysis 
(AO3). The whole paragraph is then 
evaluated (AO4).
Mark for (c) = 6 out of 6

7

6

7

6
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Example Candidate Response – high, continued Examiner comments

       This is an extended writing 
question. The candidate makes a 
point of showing one way that local 
people can help support the growth 
of sustainable tourism and therefore 
demonstrates knowledge and 
understanding (AO1).

       The candidate explains 
recycling and why this is 
appropriate in Barcelona, for 
example (AO3).

       The candidate makes a further 
point (AO1) – this time by referring 
to local tour operators making 
tourists aware and encouraging 
them to be sustainable.

       The candidate makes a further 
knowledge and understanding 
point (AO1), referring to local 
developments such as a cruise ship 
terminal.

       The candidate analyses why 
this may be linked to the use of 
more sustainable transport methods 
(AO3).

       The candidate attempts to 
evaluate their response (AO4). It 
is not very detailed and is a brief 
statement, so awarded 1 mark.

AO1 Knowledge and  
understanding = 3 out of 3 marks

AO3 Analysis and  
research = 3 out of 3 marks

AO4 Evaluation = 1 out of 3 marks
Mark for (d) = 7 out of 9

Total mark awarded =
22 out of 25

9

8

How the candidate could improve their answer
•	 (a) The candidate would have been awarded 1 mark if they had referred to the construction of the cruise terminal 

mentioned in the Insert.
•	 (d) This was an extended writing question. The candidate used the Insert to good effect which gained them marks. 

To achieve further marks, the candidate needed to demonstrate much more evaluation. The candidate might have 
benefited from using a format where they make a point, explain it and then evaluate their comments at the end. 
Three paragraphs using this format might have helped the candidate achieve full marks.

9

8

11

10

12

13

11

10

12

13
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Example Candidate Response – middle Examiner comments

       The candidate’s first part of the 
response is not specific enough – 
leisure is too general; some detail or 
examples would be required.

       The candidate is awarded 2 
marks for this part of the response. 
The candidate uses the example 
of visiting friends and relatives 
and says why they may visit them. 
Although visiting friends and 
relatives is not listed in the mark 
scheme, it is a valid reason for 
visiting Barcelona.
Mark for (a) = 2 out of 4

       The candidate is awarded 3 
marks, mentioning both money and 
jobs which are different economic 
benefits. They then explain why 
these are benefits.

       The candidate is awarded 
1 mark here as it is a further 
development of the infrastructure 
comments.

       The candidate is not awarded 
any marks here, as no economic 
benefit is identified or explained.
Mark for (b) = 4 out of 6

1

2

1

2

33

4

4

5 5
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Example Candidate Response – middle, continued Examiner comments

       The first part of the candidate’s 
response is awarded 1 mark for 
knowledge and understanding 
(AO1) and one mark for analysis 
(AO3).

       The candidate demonstrates 
description for knowledge and 
understanding (AO1) and is 
awarded 1 mark. They are awarded 
1 mark for analysis (AO3). No 
evaluation is evident.
Mark for (c) = 4 out of 6

66

77
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Example Candidate Response – middle, continued Examiner comments

       This is an extended writing 
response. The candidate makes 
the point of local people supporting 
their natural environment and is 
awarded 1 mark (AO1). This is then 
discussed and is awarded 1 mark 
(AO3). No evaluation is evident.

       The candidate is awarded 1 
mark for reducing the use of natural 
resources (AO1). The candidate 
then analyses this and is awarded 1 
mark (AO3). 

       The candidate is awarded 1 
mark for recycling some materials 
(AO1). The candidate then discusses 
this and is awarded 1 mark (AO3).

       The candidate is awarded 1 
mark for stating that food can be 
made, and ingredients grown locally 
(AO1). They then discuss this for 1 
mark (AO3). Although four pieces of 
evidence are noted in the response 
there are only 3 marks available per 
assessment objective.

AO1 Knowledge and  
understanding = 3 out of 3 marks

AO3 Analysis and  
research = 3 out of 3 marks

AO4 Evaluation = 0 out of 3 marks
Mark for (d) = 6 out of 9

Total mark awarded =
16 out of 25

How the candidate could improve their answer
•	 (a) The candidate needed to give more details; for example, the leisure tourist may visit Barcelona to experience 

the new beach that has been constructed in addition to viewing the art or architecture.
•	 (b) The candidate’s response required another economic benefit identified and explained, such as the foreign 

visitors would contribute to the total GDP which would allow / encourage the further development of additional 
tourism facilities and so spread money around the local area.

•	 (c) The candidate needed to evaluate both points made (AO4). The most significant point to be made was that 
sporting events may advertise the facilities in Barcelona which will attract people to the sites that they may see. 
When they get there, they will likely use other facilities such as restaurants or hotels which will bring in more 
money to the region. Or, that the facilities seen will encourage other sporting events to use Barcelona because the 
sporting infrastructure is already there.

•	 (d) The candidate needed to make evaluative comments because the knowledge and understanding and analysis 
marks are already at their maximum – the candidate needed to comment along the lines that the ‘best thing to do 
would be …’ and then to justify their comments.

9

8

9

8

11

10

11

10
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Example Candidate Response – low Examiner comments

       The candidate is awarded 1 
mark for stating a popular cruise 
ship destination and 1 mark for 
mentioning the seventh largest 
airport which is a fact from the 
Insert. The candidate is awarded 
1 mark for making the point about 
seeing cultural attractions.
Mark for (a) = 3 out of 4

       The candidate is awarded 2 
marks for the second part of the 
question, which describes why jobs 
are created.
Mark for (b) = 2 out of 6

1

2

1

2
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Example Candidate Response – low, continued Examiner comments

       The candidate’s comments do 
not answer the question and no 
marks are awarded.
Mark for (c) = 0 out of 6

33
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Example Candidate Response – low, continued Examiner comments

       The candidate does not answer 
the question. There is no reference 
to how local people may support 
sustainable tourism.

AO1 Knowledge and 
understanding = 0 out of 3 marks

AO3 Analysis and 
research = 0 out of 3 marks

AO4 Evaluation = 0 out of 3 marks
Mark for (d) = 0 out of 9

Total mark awarded =
5 out of 25

44
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How the candidate could improve their answer
•	 (a) The candidate would have been awarded 1 mark if the second part of the response had developed the point 

about cultural attractions; for example, by saying viewing cultural attractions such as the art or architecture.
•	 (b) Other economic benefits needed to be explained, such as the increase in GDP which could increase money 

in the region and be used to develop other tourism attractions etc., the multiplier effect with money being spread 
through the local area, or governments using money from tourism to develop infrastructure which would encourage 
more tourism and spending in the region.

•	 (c) The candidate did not address the question. Examiners would expect a response which mentions the 
advertisement that sporting events can give to destinations, e.g. tourists would see things and want to come and 
experience them. Tourists will find it easier to access places as infrastructure developments will have been made. 
The candidate could have referred to the Insert and used the examples of the airport and cruise terminal. These 
points needed to then be developed with an appropriate explanation and there needed to be some evaluation 
saying which may be the best method and why. The question is not applied, so examples may be used from a 
variety of situations to support statements made.

•	 (d) The candidate did not address the question. Examiners would expect a response which looks at how 
local people can help the growth of sustainable tourism and would be likely to mention any of the following: 
conservation (water and energy), use of renewable energy and recycling of materials, including building 
materials, employing people from the local area, use of locally grown produce so reducing carbon footprints and 
encouraging sustainability and reducing leakage. These points would contribute to 3 marks for AO1 Knowledge 
and understanding – if these points were further developed / explained or analysed then there would be a further 
3 marks for AO3 Analysis and research. Conclusions drawn about these points would allow marks for AO4 
Evaluation to be awarded.

Common mistakes and guidance for candidates
•	  Candidates needed to make use of the Insert. Many suggestions could be used to assist candidates with 

answering questions – especially useful for parts (a) and (b).
•	  Some candidates devoted too much time and effort into listing lots of ways that sustainability can be encouraged 

by local people. As there are only 3 marks available for each assessment objective (in the case of (d)) and 2 marks 
per assessment objective (in the case of (c)) it would be better if three or two identifications were made and then 
explained giving candidates time to think about evaluation which in many cases was not attempted at all.

•	 (b) Many candidates wrote about the social, cultural and environmental aspects, either with or instead of economic 
benefits. No marks could be awarded because the question dealt with economic impacts.
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Question 2

Example Candidate Response – high Examiner comments

       The candidate identifies two 
market research techniques and 
provides a detailed explanation.
Mark for (a) = 4 out of 4

       The candidate identifies three 
ways in which a hotel may help 
visitors with language and cultural 
differences. The explanations 
clearly relate to the hotel, so the 
second mark is awarded for each 
way.
Mark for (b) = 6 out of 6

1

2

1

2
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Example Candidate Response – high, continued Examiner comments

       The candidate clearly identifies 
two ways that hotels can meet the 
health and safety needs of their 
staff. The candidate gives detailed 
explanations and receives the 
additional 2 marks for each way.
Mark for (c) = 6 out of 6

       This is an extended writing 
response. The response is very 
detailed, giving a number of impacts 
expected from good customer 
service (AO1). These are all 
analysed / commented upon in 
detail showing the candidate is 
knowledgeable on the topic (AO3). 
The candidate is awarded 3 marks 
for knowledge and understanding 
and 3 marks for analysis.

       The last part of the response 
is an attempt at evaluation, but it 
is very limited. It is an attempt, and 
the candidate is awarded 1 mark for 
evaluation (AO4).

AO1 Knowledge and 
understanding = 3 out of 3 marks

AO3 Analysis and 
research = 3 out of 3 marks

AO4 Evaluation = 1 out of 3 marks
Mark for (d) = 7 out of 9

Total mark awarded =
23 out of 25

How the candidate could improve their answer
•	 (d) The candidate needed to provide further evaluation. A further two points related to comments made throughout 

or a detailed overall summary explaining which has more impact would have been sufficient for the candidate to be 
awarded the full 3 marks for this assessment objective.

5

3

4

5

3

4



Example Candidate Responses – Paper 1

18

Example Candidate Response – middle Examiner comments

       The candidate identifies and 
then explains two market research 
techniques.
Mark for (a) = 4 out of 4

       The candidate is awarded 
2 marks for the first part of the 
response where they describe 
having receptionists or tour 
guides who speak more than one 
language.
Mark for (b) = 2 out of 6

1

2

1

2
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Example Candidate Response – middle, continued Examiner comments

       The second part of the 
candidate’s response discusses 
safe working conditions using 
some examples. The candidate 
is awarded 1 mark for suggesting 
safe working conditions and then 2 
marks for the explanation provided.
Mark for (c) = 3 out of 6

       The candidate’s response is 
straightforward. They identify three 
benefits of good customer service 
and are awarded 3 marks (AO1). 
The candidate then discusses each 
one and is awarded 3 marks (AO3). 
No evaluation is evident (AO4).

AO1 Knowledge and 
understanding = 3 out of 3 marks

AO3 Analysis and 
research = 3 out of 3 marks

AO4 Evaluation = 0 out of 3 marks
Mark for (d) = 6 out of 9

Total mark awarded =
15 out of 25

How the candidate could improve their answer
•	 (b) The candidate may have been awarded more marks if they had suggested things, such as apps on phones, 

google translate being available or the hotel could have had signs or posters which all can understand.
•	 (c) The first part of the candidate’s response was very vague and needed another way that hotels can meet health 

and safety needs for their internal customers – they could have suggested break rooms or the use of uniforms, so 
staff were easily identified. Mentoring by other staff would have helped by bringing into the open any issues that 
staff may feel they have.

•	 (d) The candidate needed to provide an evaluation (AO4) to be awarded further marks.

3

4

3

4
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Example Candidate Response – low Examiner comments

       The candidate uses the term 
‘reflection paper’ in their response. 
Although this is not a usual term, it 
is clear they are trying to write about 
a comments page or review which 
would then lead to the hotel making 
changes.

       This part of the candidate’s 
response is much clearer. The 
candidate refers to informal 
feedback, and identifies and 
describes how the feedback is 
done.
Mark for (a) = 4 out of 4

       The candidate is awarded 1 
mark for suggesting translator – the 
explanation is not relevant.

       The candidate is awarded 1 
mark for sign language – although 
not identified in the mark scheme, 
it would come under any relevant 
points and would be pertinent for 
those with language difficulties. The 
explanation is not accurate.
Mark for (b) = 2 out of 6

1

2

1

2

4

3

3

4
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Example Candidate Response – low, continued Examiner comments

       The candidate does not answer 
the question which asks for ways 
in which hotels can meet the health 
and safety needs of their internal 
customers.
Mark for (c) = 0 out of 6

       The candidate does 
not address the impacts to 
organisations of good customer 
service and therefore no marks are 
awarded.

AO1 Knowledge and 
understanding = 0 out of 3 marks

AO3 Analysis and 
research = 0 out of 3 marks

AO4 Evaluation = 0 out of 3 marks
Mark for (d) = 0 out of 9

Total mark awarded =
6 out of 25

66

55
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How the candidate could improve their answer
(b) 

•	 The candidate was awarded 2 marks for identifying two ways that hotels could help visitors with language and 
cultural differences. They needed to suggest another method, such as signs / posters, apps on phones, use of 
social media to have achieved the third mark for identifying methods. Each method needed some explanation of 
how it could work.

(c) 

•	 The candidate did not answer the question. The candidate needed to identify two ways hotels may have 
assisted internal customers with their health and safety requirements. These could have included any of the 
following: training, following legal requirements, giving them safe spaces and regular breaks. The candidate 
would have been awarded 2 marks for correct identification. The other 4 marks are split between the two parts 
of the question for a more detailed explanation. This means that the explanation needed to include making at 
least two points about each method selected. For example, allowing staff to have a recreational area (1 mark), 
will allow them to have somewhere safe to have a rest (1 mark), which is not linked to their workstation where 
they could be disturbed (1 mark).

(d) 

•	 The candidate did not answer the question. Responses were assessed on coverage of the following assessment 
objectives: AO1 Knowledge and understanding, AO3 Analysis and research and AO4 Evaluation. Each part had 
3 marks available.

•	 Candidates should therefore have looked to make three points about the value of good customer service – such 
as happy customers will leave good reviews, they will return and bring others, staff will be happy to stay (AO1). 
Each point would need developing (AO3). Evaluative conclusions would allow AO4 marks to be awarded.

Common mistakes and guidance for candidates
•	 	Explanation questions are usually worth 6 marks. They may require two or three points to be made. If two 

points are to be made, then it is 3 marks per point – 1 mark for the identification with the other 2 marks for the 
explanation. For these questions it is important to note that the explanation must be detailed. If it is three points, 
then each point is worth 2 marks – 1 mark for identification and 1 mark for the explanation so the explanation does 
not need to be as detailed. A common error is for candidates to be too brief with their response and be awarded 4 
rather than 6 marks.

•	 	With extended writing questions it is important to note that examiners are assessing coverage of assessment 
objectives. Each assessment objective will be worth either 2 or 3 marks. It is not always necessary for candidates 
to make more than two or three points (AO1) and then to explain / analyse or comment on them (AO3). Candidates 
would then achieve either 4 out of 6 or 6 out 9 marks with the final 3 marks being for evaluation (AO4). Many 
candidates did not reach this point because they seemed to spend too long making as many points as possible and 
not have time to adequately explain them or produce an evaluation. Better candidate responses followed a pattern 
of identification, explanation and then evaluation either two or three times depending upon the marks allocated. 
This allowed the highest possible marks to be achieved.



Example Candidate Responses – Paper 1

23

Question 3

Example Candidate Response – high Examiner comments

       The candidate gives a clear 
definition of both mass tourism and 
ecotourism with examples.
Mark for (a) = 4 out of 4

       For the first two parts of the 
response, the candidate uses 
appropriate examples of negative 
economic changes that mass 
tourism may cause. Each example 
is explained – both parts are 
awarded 2 marks each.

       The final part of the response 
is also awarded 2 marks, although 
the validity of the marks needs 
explaining. The candidate uses 
the example of overtourism or too 
many visitors but is rather vague 
about this. When the rest of the 
response is read, it is clear the 
candidate uses the example of too 
many visitors to explain possible 
stresses upon infrastructure, etc. 
and that this would be the cause 
of governments having to spend 
money on dealing with the issues. 
Therefore, this part is awarded 2 
marks.
Mark for (b) = 6 out of 6

1

2

3

1

2

3
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Example Candidate Response – high, continued Examiner comments

       The candidate’s response 
identifies and explains in detail two 
positive environmental impacts of 
tourism.
Mark for (c) = 6 out of 6

       The candidate’s response 
gives a variety of ways that 
responsible tourism behaviour 
can be encouraged. The three 
different ways are awarded 3 
marks (AO1). As the candidate also 
analyses each point, the candidate 
is awarded 3 marks for analysis 
(AO3).

       The candidate gives a simple 
evaluative comment and is awarded 
1 mark for evaluation (AO4).

AO1 Knowledge and 
understanding = 3 out of 3 marks

AO3 Analysis and 
research = 3 out of 3 marks

AO4 Evaluation = 1 out of 3 marks
Mark for (d) = 7 out of 9

Total mark awarded =
23 out of 25

How the candidate could improve their answer
•	 (d) The candidate’s evaluation section needed to provide more detail. The simple statement made was enough 

to be awarded 1 mark but for further evaluation marks the response needed to be more analytical – for example, 
saying which methods were likely to be the most effective way or conversely the least effective way.

4 4

5

5

6

6
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Example Candidate Response – middle Examiner comments

       The candidate provides a 
definition of mass tourism and is 
awarded 1 mark.

       The candidate provides a 
definition of ecotourism and is 
awarded 1 mark.
Mark for (a) = 2 out of 4

       The candidate discusses 
cultural impacts instead of negative 
economic ones.

       The candidate links increasing 
prices with lack of spending by local 
people and is awarded 2 marks.

       The candidate is awarded 1 
mark for their first sentence about 
overdependence, the rest of the 
response does not answer the 
question.
Mark for (b) = 3 out of 6

1

2

3

1

2

3

4

5

4

5
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Example Candidate Response – middle, continued Examiner comments

       The candidate identifies two 
positive environmental impacts and 
is awarded 2 marks. 
Mark for (c) = 2 out of 6

       The candidate identifies three 
points (AO1) and is awarded 3 
marks.

AO1 Knowledge and 
understanding = 3 out of 3 marks

AO3 Analysis and 
research = 0 out of 3 marks

AO4 Evaluation = 0 out of 3 marks
Mark for (d) = 3 out of 9

Total mark awarded =
10 out of 25

77

6 6
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How the candidate could improve their answer
(a) 

•	 The candidate needed to provide examples as well as definitions. The explanation given for the second term 
‘ecotourism’ was a little vague. Use of the Insert would have given the candidate assistance to find suitable 
examples.

(b) 

•	 The candidate identified one economic change and explained this for 2 marks. A second was written but crossed 
out – this is the other mark which the examiner has given as benefit of doubt. The candidate needed to confine 
themself to economic changes only and ensure that they were explained, as well as correctly identified – no 
reference to cultural or environmental should have been included.

(c) 

•	 The candidate identified two correct positive environmental impacts, but they were not relevant or explained 
correctly – full marks can only be achieved with the correct explanation.

(d) 

•	 The candidate was awarded the full 3 marks available for Knowledge and understanding (AO1). However, the 
detail with each identification was not enough to be counted as Analysis (AO3). The last sentence was too brief 
to have been considered Evaluation (AO4).

•	 A more detailed explanation or commentary on the three points was needed for more marks. For example: 
Responsible tourism can be encouraged by creating refuges for wildlife and protected areas (AO1). This would 
allow the local wildlife to be safe and breed so ensuring their security and continued survival which would 
encourage tourists to come to see them (AO3). This would be a positive point as the local people would benefit 
and they can continue to develop their tourism industry which may then become sustainable in the future (AO4).
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Example Candidate Response – low Examiner comments

       The candidate is awarded 1 
mark for each definition.
Mark for (a) = 2 out of 4

       The candidate’s first point does 
not answer the question.

       The candidate identifies and 
explains a negative economic point 
and is awarded 2 marks.

       The candidate is not awarded 
any marks as the points listed are 
all positive economic points of 
tourism not negative.
Mark for (b) = 2 out of 6

1

2

4

1

2

3

4

3
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Example Candidate Response – low, continued Examiner comments

       The candidate is not awarded 
any marks as they give positive 
points about tourism. There is no 
reference to the environment and 
how this can positively impact 
tourism destinations.
Mark for (c) = 0 out of 6

       The response does not 
describe / discuss any ways 
that responsible tourism may be 
encouraged.

AO1 Knowledge and 
understanding = 0 out of 3 marks

AO3 Analysis and 
research = 0 out of 3 marks

AO4 Evaluation = 0 out of 3 marks
Mark for (d) = 0 out of 9

Total mark awarded =
4 out of 25

5

6

5

6
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How the candidate could improve their answer
•	 (a) The candidate needed to give examples to support the definitions required in the question. The definitions could 

be found on the Insert or from the candidate's own knowledge.
•	 (b) The candidate’s response needed to remain on the topic of negative economic changes caused by mass 

tourism. The candidate needed to avoid any positive comments and stay focused on economic points, rather than 
adding in any others such as environmental.

•	 (c) The question required the candidate to explain the positive environmental impacts that tourism can have on a 
destination. Use of the Insert would have provided some ideas to the candidate which could have been developed. 
With this question it is important to note that it is a two-part answer worth 6 marks. This means that 3 marks are 
awarded per part – 1 mark for identifying an impact and 2 marks for the explanation which needs to be detailed 
rather than a brief statement.

•	 (d) The candidate did not answer the question although there was some indication that they were moving along the 
right path by mentioning the Government and what they could do. However, this was linked to incorrect statements 
which meant that no marks could be awarded. The candidate needed to think about what responsible tourism is 
about (making better places to live and work in alongside better places to visit) and then consider ways in which 
this could be achieved. This approach would have given them access to marks from AO1 and AO3. Thorough 
evaluative comments needed to be provided such as, ‘this method is better because if local tourism organisations 
work with local people, they could provide jobs and investment which would show the local people the benefits of 
tourism and they will be more likely to support other developments’.

Common mistakes and guidance for candidates
•	 	More use could have been made of the Insert as it would have pointed candidates towards possible examples to 

use in their responses.
•	 	Candidates need to be guided in ways to approach the questions – especially the longer responses and the 

extended writing responses.
•	 	Candidates would benefit from understanding the assessment objectives. If an extended piece of writing is 

required, then the responses should refer to the appropriate examples and not use generic examples – this 
would not be answering the question correctly. For example, ‘discuss how destinations may assist visitors with 
language and cultural differences’ is a general question and assesses Knowledge and understanding (AO1) and 
any examples could have been used in the answer. But ‘assess the benefits of social media for rail operators’ was 
applied and assesses Application (AO2); therefore, examples used must be relevant to rail operators, not hotels or 
any other travel and tourism business.
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